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Choose the correct answer from a, b, cor d:
Q your brother like birds?
a) Do b) Are c) Does d) Is
@) The oo, can fly
a) lizard b) parrot C) turtle d) fish
€ Oh foot hurts.
a) Me b) Mine c) My d) |
@) Mum . up the kitchen.
a) watches b) cleans c) does d) uses
@ wanttoeat ... .
a) keys b) umbrellas C) popcorn d) watches
- o
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Choose the correct answer:

0 If 29 X 64 = 1856, then if we divide 1859 + 64, the remainder = .

a)2 b)3 Q6
9 Any two straight lines that never intersect are called -
a) intersecting b) parallel
¢) intersecting and not perpendicular d) perpendicular
e The value of the digit 7 in the number 5 732 584 is -
a)7 000 b) 70 000 ¢) 700 000
e 25X T XA =
a) 53 b) 70 c) 179
6 The place value of the digit 7 in the number 856 742 843 is -
a) ten thousands b) hundred thousands  ¢) millions
6 Nine million and five = - (in digits)
a) 9005 b) 59 900 ) 900 005
0 The suitable sign we can putin the space 35 X 17 - 340x 17
a) = b) > c) <

d) 7 000 000)

d) 700

d) ten millions

d) 9000 005

d) >

Choose the correct answer:

o The change of matter from a solid state to a liquid state by heating is called -

a) melting b) evaporation ¢) condensation
9 The suitable unit for estimating the mass of gold is -
a) meter b) centimeter c) gram

9 The - is used to measure long lengths.

a) graduated cylinder b) ruler

¢) graduated tape d) common balance
0 At ordinary temperature, matter exists in ... state(s).

a) one b) three c) two

d) freezing

d) kilogram

d) four
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Choose the correct answer from a, b, cor d:
€D I wantasingle ticket ... Tanta, please.
a) from b) at ) to d) of
9 Ao is the chips? B: It's next to the ketchup.
a) Where b) What ¢) Who d) When
€) Pastais my favourite ... .
a) ticket b) subject c) food d) address
@) Heisa ... . He helps sick animals.
a) wet b) vet ) pet d) set
O The isin the sea.
a) bus b) bike c) ferry d) taxi
L .
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Choose the correct answer:

@ 411isdivisible by .

a) 2 b) 3 Q4 d)5
9 The number of factors of any prime number is -
a)o b) 4 )1 d)2
e The sum of the measures of the interior angles of the triangle is - °.
a) 90 b) 180 ¢) 360 d) 120
0 The diagonals are equal in length in -
a) square and rectangle b) parallelogram and rectangle
¢) rectangle and rhombus d) rhombus and parallelogram
e If the measures of two angles of a triangle are 62° and 81°, then this triangle is - triangle.
a) an acute b) an obtuse ¢) aright d) an equilateral
6 The triangle whose side lengths are 3 cm, 7 cm and 5 cmis a/an e triangle.
a) equilateral b) isosceles
) scalene d) non of the previous
0 5isa factor of ..
a)8 b) 12 c) 15 d) 18

Choose the correct answer:

o Some elements are bad conductors of heat such as -
a) copper b) iron ) sulphur d) aluminum

9 Gold and silver are used in manufacturing -

a) bridges b) jewels c) planes d) plastic

9 Putting a bottle of water in the freezer of a refrigerator for 24 hours causes a - to water.
a) physical change b) change in structure
¢) chemical change d) All the previous answers

o When iron is exposed to air, it -

a) evaporates b) melts c) freezes d) rusts
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Choose the correct answer froma, b, cord:

€ Thetrain .o at 2.45. Please hurry.

a) leave b) leaves ¢) leaving d) don't leave
@) Llet's a video

a) do b) watch C) eat d) swim
€) Whose ..o are those?

a) camera b) glasses ¢) book d) pen
@) My feet ..o :

a) hurting b) hurts ¢) hurt d) is hurting
OWe a computer at school.

a) use b) play ¢) clean d) do
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Choose the correct answer:

0 The common factor of all numbers is -

a)0 b) 1 c2 d)3
9 The highest common factor for the two numbers 8 and 12 is -
a)8 b) 12 Q4 d)2
9 If the perimeter of a square is 36 cm, then its side length is - cm.
a)3 b) 6 o4 d)9
3Mm2= cm2
a) 30 b) 300 ) 3000 d) 30000
9 6 dm2 = cm?
a) 60 b) 600 ¢) 6000 d) 60 000
G A rectangle, its dimensions are 3 cm and 7 cm, then its perimeter = . cm.
a)7 b) 17 c) 20 d) 40
0 The area of the square of side length9 cm - the area of the rectangle whose dimensions

are4cmand 15 cm.

a) < b) > c)= d) >

Choose the correct answer:

o The Sunis @ -

a) planet b) star

c) moon d) None of the previous
9 ------------- revolve around the Sun in fixed orbits.

a) The 8 planets b) Stars

¢) Moons d) All the previous answers

9 The axis of the Earth is -
a) upright b) minimized ¢) vertical d) inclined
o The Earth rotates around its axis once every ...

a) 48 hours b) 24 hours ) 365" days d) 360 days
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Choose the correct answer from a, b, cor d:
€D Blue is my favourite ... :
a) animal b) number c) food d) colour
@) A:Whereisthe cereal?  B:lt'sin ... 3.
a) aisle b) address c) ticket d) map
€) These .o trees
a)am b) is C) are d) were
O don’t want meat.
a) He b) She c) They d) It
@ idomy every day.
a) bus b) music C) computer d) homework
- o
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Choose the correct answer:
0 % million =«

a) 1000 000 b) 500 000 ¢) 250 000 d) 100 000
9 The H.C.F for the two numbers 2 and 4 is -

a)2 b) 4 Q6 d) 8
€) 24000000 m2= . km?

a) 24 000 b) 240 ) 24 d) 2 400
Q The measure of any angle of a rectangle = -

a) 90° b) 60° c) 100° d) 80°
6 The perimeter of the square whose side length is 3cm = - cm.

a)9 b) 12 Q6 d) 15
6 The numbers 2, 3,5 and 7 are called - numbers.

a) prime b) odd c) even d)
0 All the - numbers are divisible by 2.

a) odd b) even

) prime d) non of the previous

Choose the correct answer:

o The rotation of the Earth around its axis causes
a) sequence of day and night
¢) sequence of two seasons
9 The volume of a cuboid = -
a) length x width x height
¢) length x width

a) lron b) Bromine

produced from

a) making bread b) melting of wax

b) sequence of four seasons

d) None of the previous

b) length - width — height
d) length + width + height

is among the non-metals that is found in a liquid state at room temperature.

c) Copper d) Mercury

o The change that is produced as a result of malleability of copper into wires is the same change

¢) burning of coal d) charring of sugar
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Choose the correct answer from a, b, cor d:
Q. time does it leave?
a) Whose b) What ¢) How d) Where
@) Howdoyou ..o “Tahrir"?
a) spell b) spells ¢) spelling d) spelt
9 We .. to work by underground.
a) walk b) want ) help d) go
) Ahmed is wearingablue ... .
a) tape b) net C) tie d) tool
@) We usuallyhavea ... in the afternoon.
a) snack b) snake C) music d) sock
- o
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Choose the correct answer:

0 15 is a common multiple of -

a2,5 b)3,5 b)4,5 b) 10,5
9 The two diagonals of @ - are equal in length and perpendicular.

a) square b) parallelogram ¢) rhombus d) rectangle
0 If two straight lines are parallel, then they intersect at - point(s).

a)o b) 1 Q)2 d)3
Q 80 000, 180 000, 280 000 and e (in the same pattern

a) 380 000 b) 680 000 ¢) 780 000 d) 180 000
e 72 hOUIS = - days.

a)2 b) 3 Q4 d)5

0 The number whose prime factors are 3, 3, 3, 5is -

a) 15 b) ) 30 d) 135
e 3 million, 57 thousand and 9 is written as -

a) 357 009 b) 3057 009 c) 3579 d) 35790

Choose the correct answer:

o Matter exists in - state(s).

a) one b) three ) two d) four
9 ------------- is the non-metal which is used in making the positive poles of the dry cell.
a) Copper b) Carbon ¢) Nitrogen d) (@) and (b)

9 The Moon, which we see in the sky, revolves around -
a) Earth b) Mars c) Venus d) Neptune
@) if the dimensions of your book are 10, 5 and 2 cm, then the volume of the book equals.- cm?

a)17 b) 52 c) 100 d) 30
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Choose the correct answer froma, b, cord:

€D We canseewithour ... .
a) eyes b) ears c) arms d) legs
9 A, can carry people in the river.
a) bus b) car c) ferry d) train
EHe homework at night.
a) do b) does ¢) doing d) are doing
O lets videos.
a) watch b) watched ¢) watching d) watched
@O lets football
a) play b) do ¢) wash d) read
duclail_allol wljill
: ol 93| Cpus Las duumaial | dylsy | i
s wol> Sle dunall Jagud! uial

(Jed) 56 = e Y ol = Lo gl ol = Gy g | s

e il Luse @
(Bl Jladl = oyl = &yl = L)
e ole Ae byl Slus¥ ! Gy Snclu @)
(G be IS = Golaill = S Ll by =) ,a00 Y1)
e BLTET ple ual Bus g desle Jol e wweis @

(dbo = O9l - iy = %)

J
WG



(gl (i Las dovsuall gl | s

(7.3\" cOg“;Og\- ijq)

e Voo pha olSI iy ol (e Lol oLS VA Byl Zo il Sliwlidl ) 8

(YOVEEN ( Werenns ctoVSYa L ¥YOVSYY) . =\OVIY¥A + e ¥ °

.............. Bl oy o0 ¢ o V¢ o aeSLt Jlgbal gl il @

(Zasl3l1 @38 ¢ dlud) Goleula « #3LOY T Golula « gLLYI Calisia)

A8 e =ShiaslSo @

(- T D))

.............. 32 A alalse faama @l Jo¥1sustl @

(T¥ N VYY)

.............. YRR P PUM-1 | BPF-FRTT-RNPA [ |
[

(CATTIPRT SUPRY STV £ 2% RN I P =hywd | diads ba 08 . Lguis § il yaiy semall e V1

1= (0o N\ ) A i Y= (L N\ ) 8 e 0 =0 o ad 6l g uo e LT @)
.............. aLylg) OLwlial il Slitl £43 018

(Crdludl solunia « dol3l! Traka 310_9‘).”[65\3 cLlgstals)

(\ = A=V -0) CiS19S it Jomsos @
LS aelim & rsiny @
(SO = sl = Gulsidl = pouiag¥T)
e 52 ALl sl 312500 Dl e doldl Jos @
(iS5 = 5l — tasnill = lgumi¥ 1)
il SIS 3T SsS,in, @
(0,1 = 85301 = o) = s)llac)

° v,

Sawdl gyl aall @.




Choose the correct answer:

0 The four sides are equal in length in -

a) parallelogram b) rectangle c) rhombus d) triangle
e The LCM of 3and 5 is oo

a3 b) 6 Q9 d) 15
€ 25%x977 x4 =

a)9770 b) 97 700 ¢) 2500 d) 400
9 The place value of the digit 6 in the number 63 421 734 is -

a) millions b) ten millions ¢) thousands d) hundred millions
e A rectangle, its dimensions are 3 cm and 5 cm, then its perimeter = - cm.

a) 15 b) 8 16 d) 30
@ If ABC is a triangle and m (£LA) = 91°, then this triangle is a/an -

a) obtuse-angled triangle b) right-angled triangle

) acute-angled triangle d) non of the previous
0 40000 =40 =

a) 100 b) 1 000 c) 10 000 d) 100 000

Choose the correct answer:

o Common balance is a tool used to measure -

a) length b) volume C) mass d) (b) and (c)
9 ------------- matter has an indefinite shape and indefinite volume.

a) Gas b) Liquid c) Solid d) (a) and (b)
9 Which of these is the hottest? ...

a) The Earth b) The Moon

c) The Sun d) None of theprevious

o The foil that is used in wrapping up chocolate shows the -
a) electric conductivity of metals b) ability of metals for melting

¢) malleability and ductility of metals d) heat conductivity of metals
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Choose the correct answer from a, b, cor d:
she have a snack?

a)do b) are c) does d)is
@) Heisn'tfat. He's ..o :

a) tall b) big ¢) short d) thin
© is my favourite food.

a) Puppy b) Pasta ¢) Pin d) Bug
@) My birthday is ... Thursday.

a)in b) on c) at d) under
@) Ican'tseewell.Ineed my ... :

a) wallet b) umbrella ¢) jacket d) glasses
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Choose the correct answer:

0 % of a million pounds is written in digits as - pounds.

a) 250 b) 2500 ¢) 25000 d) 250 000
9 One million and one hundred thousand - 1000 100

a) > b) < C) = d) otherwise

9 The sum of the measures of the interior angles of a triangle = ..

a) 90° b) 120° c) 180° d) 360°
Q The triangle whose lengths of sides are 6 cm, 4 cm and 6 cm s - triangle.
a) a scalene b) an isosceles ) an equilateral d) a right-angled
e The perimeter of a square whose side lengthis 3cm = - cm.
a)9 b) 12 )6 d) 15
@ Milliard is the smallest number formed from ... digits.
a) 10 b) 7 Q)8 d)9
0 360360 =12 = o
a) 303 b) 3030 ¢) 30030 d) 3003

Choose the correct answer:

o The amount of matter in an object is called -

a) length b) matter c) volume d) mass
9 The farthest planet from the Sunis -

a) Neptune b) Mars

¢) Saturn d) None of the previous

9 The - element has low melting point.

a) sulphur b) gold C) copper d) iron

o Which of the following is considered a chemical change that happens to a piece of paper? -
a) Bending it b) Cutting it into pieces
¢) Burning it d) (b) and (c)
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Choose the correct answer from a, b, cor d:
to the cinema.
a) goes b) going c) go d)togo
@ May | you?
a) play b) help ¢) cook d) try
€) Monaiis ... . She needs water.
a) thirty b) thirsty ¢) thick d) thin
@) The woman'sfinger ... .
a) hurt b) hurts ¢) hurting d) heart
© Mona oo a red jacket.
a) wears b) goes ¢) reads d) listens
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Choose the correct answer:

@ 070:35=

a) 22 b) 220 c) 202 11
Q The number - is divisible by 3.
a) 14 b) 26 c) 63 c) 94

e The smallest prime number is -

a) zero b) 1 Q)2 Q3
Q The triangle whose side lengths are 6,4 and 6 cm is a/an - triangle.

a) scalene b) isosceles ¢) equilateral ¢) otherwise
e The two perpendicular straight lines form 4 ... angles.

a) obtuse b) right C) acute C) zero

0 3564 128 + one million = -
a) 3565128 b) 4564 128 €) 2564128 €)3574128
0 The measure of any angle of the square is - .

a) 45 b) 0 c) 90 d) 70

Choose the correct answer:

o All these elements are good conductors of electricity except -

a) phosphorus b) graphite ) iron d) copper
9 Burning of wood isa/an - change

a) grinding b) ice cycle ¢) chemical d) physical
€) The part of the Earth that faces the Sun........

a) doesn’t get light b) is at nighttime

¢) is at daytime d) None of the previous
o ~~~~~~~~~~ is used in measuring the volume of an irregular shaped object.

a) Balance b) Graduated tape

¢) Graduated cylinder d) Ruler
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Choose the correct answer from a, b, cor d:
EDOh! foot hurts.
a) Me b) Mine c) My d) I
) We canseewithour ... .
a) legs b) arms C) ears d) eyes
EWe a snack in the afternoon.
a) use b) go ) help d) have
@Y When Ali and Mona exercise?
a)is b) does C) are d) do
Q YOU CansSee ... at the pet shop.
a) lions b) giraffes ¢) elephants d) kittens
L .
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Choose the correct answer:

0 71 millions, 425 thousands and 12 is written in digits as -

a) 71124 350 b) 71425120 ) 71425012 d) 71242 571
eThe numbers 1,5 and 7 are - numbers.
a) odd b) even C) prime d) otherwise
e The quadrilateral has - diagonals.
a) 1 b) 2 o3 d) 4
9 The suitable unit of measuring the distance between Suez and Cairo is -
a) mm b) dm c) km d) km?
e The perimeter of the square whose side length is 4 cm - the perimeter of the rectangle

whose dimensions are 5 cm and 3 cm.
a) > b) = Q)< d) otherwise

@ The only even prime number is -

a)0 b) 1 c2 d)3
0 The number - is divisible by both 2 and 5.
a) 25 b) 117 c) 900 d) 52

Choose the correct answer:

o The distance between cities is measured in -
a) meter b) kilogram c) kilometer d) ton
9 The physical change is a change in -
a) shape b) structure C) properties d) (b) and (c)
9 The most beautiful planet in the solar system is -
a) The Earth b) Saturn c) Venus d) Mars
o Elements that have metallic luster are called -

a) metals b) non-metals

¢) (a) and (b) d) None of the previous
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Choose the correct answer from a, b, cor d:
o They are sittingonthe ... .
a) peach b) beach ¢) witch d) watch
9 Thebirds ... in the sky in July.
a) buy b) fry ) try d) fly
Elam for my camera. | can’t find it.
a) look b) looking ¢) to look d) looks
) A:Whose book is it? B:lt's .o, :
a) hers b) your ¢) him d) you
Q A: Are you okay? Bl oo so.
a) help b) thank ) think d) can
\ .
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Choose the correct answer:

0 ABCis a triangle in which m (£ A) = 100°, then AABC is - -angled triangle.
a) an acute b) an obtuse ¢) aright d) otherwise
9 If the perimeter of an equilateral triangle is 45 cm, then the length of its side = - cm.
a) 60 b) 15 09 d) 30

9 The common factor for all numbers is -

a) 1 b) 2 C) zero d) 4
Q Million is the smallest number formed from ... digits.

a)7 b) 8 9 d) 10
@ 'n 2ABCifm (£ A)=45°and m (£ C) = 70°, then m (£ B) = oo

a) 180° b) 105° c) 65° d) 50°
@ ................... is a common multiple for all numbers.

a) Zero b) 1 )2 d) 10
0 The measure of the straight angle - the measure of the obtuse angle.

a) > b) = Q) < d) <

Choose the correct answer:
o ------------ is used in making thermometers.
a) Mercury b) Bromine c) Iron d) Copper

9 The Earth revolves around the Sun once every . .

a) 365" days b) 24 hours ) 360 days d) one day

9 All of the following are chemical changes except ------ .

a) explosion of fireworks b) burning of coal
¢) formation of a salty solution d) None of the previous

o Gram and kilogram are the units of measuring - .

a) mass b) length c) volume d) height
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